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| AnSWér ALL questions. | |
| | P.ART A—(10x2= 20 @érlgg)
1. State the édv_antage,of ADT ' |
2. . What are the‘dis'advantage of linked list bver .a-rl_‘a-y?
‘ 3; _ What afe the apiqlicat‘ion of stacks?
4.. Wh;t are i:)ri‘ority queues'? What éye the 'ﬁays tp_implem(.aﬁ't priority queue?
5' .‘ F01 the tlee in F1gu1e 1. o |
(a) : L1st the 51b11ngs for node E.

(b Compute the he1ght.
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'What are the 1epresentat1on of the glaphs‘? .

Show the result of mn. 01de1 tlavelsal of the binary sealch tree gwen in
- Figure. 2.

Flgute 2

Defme Euler circuits.

What are the advantage and d1sadvantage of separate chammg and linear

~ probing?

'State the complex1ty of bmary search.

PART B— (5 X 13 65 malks)

(a) @) State the. polynonual representation for Gx +9x +Tx+1 usmg-

- linked list. Write procedure to add and multlply two polynonual and
o explam with su1table example o . (D

: (ii) What are the ways fto 1nse1t a node in hnked list? Wute an .
- algorithm for inserting a node before a given node in a linked list. ~ =~

(®)
Or |
(b) [6)) ' What are -the. various operatmns on array? Write a procedure to‘

msert an‘'element in the mlddle of the array. . . (7

(ii) Write a procedule to deletmg the last node from a cncula1 hnked
- list, - : : L ‘ S (6)--

(a) .erte the procedure to convelt the 1nf1x expressmn to postflx explessmn

-, and. steps mvolved in evaluating the postfix expression. Convelt the
© expression A (B /C+(D%E SN H to postflx form. Evaluate the

given pOStle expressmn 9 3 4*8+ 47
Or

(b)  What are circular’ queues. Write the procedure to insert an element to
- circular queue and delete an element from a c1rcu1a1 queue using array
1mp1ementaf1on '
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'Wnte the followmg routines to 1mplement the bas1c binary sea1ch tree

operations. .

@) - Perform search ope1 atlon in b1na1y Sealch T1- ee. '

(i) Flnd mm and Fmd max,

_Of,‘ ;

Distinguish between B Tree and B+ tree. Cxeate a B tree of orde1 5 by
1nsert1ng the followmg elements: 3, 14, 7, 1,8,5,11,17, 13, 6, 23, 12, 20,
26, 4, 16, 18 24, 25 and 19. : _ ‘

.Dlstmgulsh between breadth fust sealch and depth flrst search w1th

example, N
Or
'State. and expl'ain topological SOrt Wit‘h suitable example.f

@ -State and explam the shell sort. State and explain the algouthm for )

_ shell sort Sort the elements using shell sort. = . (7). _.
(i) | Explam Open Addlessmg in detail. . o o (B
‘ o Or‘ . : .
(i)- _Dlstmgmsh between hneal search and bmary search. State and ,
T 'explam the algorlthms for both the sealch with example. | (7)_
(i jExplam Rehashmg and extendlble hashmg I - (6)

' PART C— (1 X 15' =15 marks)-

What are expressmn Trees. Write, the procedure for const1uctmg an’
expressxon Tree. - - :

- Or
Given mput {4371 1323, 6173, 4199 4344, 9679, 1989} and a hash_
functlon h(x) x(mole) show the resultmg : ‘ .

() open 'hash table

- (i) closed hash table usmg lmear probmg :

(m) closed hash table usmg quadratlc pr obmg_

(1v) closed
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